RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Support & Approval of the Tohono O'odham Utility Authority Fiber Optic Cable to AFC Site, North Komelik Community, Sif Oidak District)

RESOLUTION NO. 07-021

1	WHEREAS,	by Resolution No. 08-70 the Nation established the Papago Tribal Utility Authority,
2		now known as Tohono O'odham Utility Authority (TOUA) for purposes of constructing,
3		maintaining and operating various utility systems within the Nation to be owned
4		wholly by the Nation; and
5	WHEREAS,	TOUA proposes to enhance the existing telecommunications system with the
6		placement of a 12 pair fiber optic cable from the existing 48 fiber optic cable system
7		to the AFC Site in North Komelik Community; and
8	WHEREAS,	TOUA has identified and prioritized a project to upgrade the existing
9		telecommunications facilities which is hereby described as from BIA Route 15, along
10		the entrance to the Sif Oidak District Administration, to the existing AFC Cabinet Site
11		within the community of North Komelik; and
12	WHEREAS,	said project will enhance the telecommunications system for growth and future
13		services made available by TOUA; and
14	WHEREAS,	$TOUA \ has \ respectfully submitted \ all \ documents \ and \ per tinent information (attached$
15		here to and incorporate d here in by reference) for uses consistent with the authorized
16		purposes of TOUA; and
17	WHEREAS,	the proposed TOUA Fiber Optic Cable to AFC Site will be of substantial benefit to the
18		community of North Komelik, Sif Oidak District and their respective members; and
19	WHEREAS,	the Sif Oidak District Council supported and approved the proposed project by
20		enacting Resolution No. 11-06-06; and
21	WHEREAS,	the Natural Resources Committee reviewed the proposed project on November 30,
22		2006 and by consensus recommends approval thereof by the Tohono O'odham
23		Legislative Council.
24	NOW, THER	REFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council does hereby
25		support and approve the TOUA Fiber Optic Cable to AFC Site, North Komelik
26		Community, Sif Oidak District and related facilities in the location (as more fully
27		described in the attached map and referenced supporting documents) and
28		construction by TOUA or its designated subsidiaries for uses consistent with the
29		authorized purposes of TOUA.
	11	

	RESOLUTION NO. <u>07-021</u> (Support & Approval of the Tohor Komelik Community, Sif Oidak Dis Page 2 of 3	no O'odham Utility Authority Fiber Optic Cable to AFC Site, North strict)						
1 2 3 4	of <u>JANUARY, 2007</u> at a meeting a AGAINST; <u>-0-</u> NOT VOTING; and	ssed by the Tohono O'odham Legislative Council on the <u>09TH.</u> Day at which a quorum was present with a vote of <u>2,440.80</u> FOR; <u>-0-</u> [<u>05</u>] ABSENT, pursuant to the powers vested in the Council by astitution of the Tohono O'Odham Nation, adopted by the Tohono						
5		, 1986; and approved by the Acting Deputy Assistant Secretary -						
6	Indian Affairs (Operations) on M	arch 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48						
7 8	Stat. 984).							
9		TOHONO O'ODHAM LEGISLATIVE COUNCIL						
10		TOTOMO O ODIEMI BEGIOTATIVE COCHOLE						
11		$\alpha \alpha \alpha = 0$						
12		LU MU HOV						
13		Verlon M. Jose, Legislative Chairman						
14		11						
15		1 day of January, 2007						
16		V						
17 18	ATTEST:							
10 19	.,							
20	Sumi Sife							
21	Lucille Lopez, Acting Legislative Secretary							
22								
23	09 day of January	, 2007.						
24								
25	II	for approval to the office of the Chairwoman of the Tohono						
26	O'Odham Nation on the							
27 20		ons of Section 5 of Article VII of the Constitution and will become						
28 29	of submittal.	pon her failure to either approve or disapprove it within 48 hours						
29 30	oi suomittai.							
31		TOHONO O'ODHAM LEGISLATIVE COUNCIL						
32								
33								
34		Al Mor						
35		Verlon M. Jose, Legislative Chairman						
36								
37								
38	// Annayen	on the day of OMMANY .2007						
39 40	[// APPROVED	on the day of						
40 41	[] DISAPPROVED	at 10:30 o'clock, 1.M.						
42								
43 44		/ Vahia ia Maji Sajin Wa						
44 45		VIVIAN JUAN-SAUNDERS, CHAIRWOMAN						
45 46		TOHONO O'ODHAM NATION						
45		TOHOUGO ODALMI MILION						

	RESOLUTION NO. <u>07-021</u> (Support & Approval of the Tohono O'odham Utility Authority Fiber Optic Cable to AFC Site, North Komelik Community, Sif Oidak District) Page 3 of 3
1	Returned to the Legislative Secretary on the $\frac{\cancel{\beta}}{}$ day of
2	Tenus a
3	<u>Jumy</u> , 2007, at <u>9:15</u> o'clock, <u>#</u> .M.
4 5	
6	Shum John
7	Lucille Lopez, Acting Legislative Secretary
8	
9	
10	
11	
12	
13	
14 15	
16	
17	
18	
19	
20	
21	
22	
23	
24 25	
26	
27	
28	
29	
30	
31	
32	
33 34	
34 35	
36	
37	
38	
39	
40	
41	
42 43	
+3 44	
45	
46	
	A

ACTION: SUPPORT & APPROVAL OF THE TOHONO O'ODHAM UTILITY AUTHORITY FIBER OPTIC CABLE TO AFC SITE, NORTH KOMELIK COMMUNITY, SIF OIDAK DISTRICT

SITE, NORTH ROWLLIN COMMUNITY, SIF OIDAR

COUNCILWOMAN WAVALENE ROMERO

SECOND: COUNCILWOMAN DARLENE ANDREW

DATE:

MOVED:

JANUARY 09, 2007

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI	1. FRANCES MIGUEL (Vernon J. Smith)(155.40	х			
310.8	2. FRANCES G. ANTONE (Lucilda J. Valenzuela (Norris))	155.40	X			
CHUKUT KUK	1. ETHEL GARCIA	129.35	x			
258.7	2. VERLON M. JOSE (David Garcia)	129.35	X			
GU ACHI	1. TIMOTHY L. JOAQUIN (Jonas Robles) 2. CYNTHIA E. MANUEL	110.80	x			
221.6	2. CYNTHIA E. MANUEL (Louis L. Johnson)	110.80	X			
GU VO	1. RAYMOND VICTOR	96.55	x			x
193.1	2. MICHAEL FLORES (Grace Manuel)	96.55	X			
HICKIWAN	1. SHIRLEY SANTOS-MOLINA	83.70	х			x
167.4	2. SANDRA ORTEGA	83.70	х			
PISINEMO	1. BARBARA SALVICIO	85.90	X			
171.8	2. GERALD FAYUANT	85.90	х			X
SAN LUCY	1. LORRAINE EILER	84.50	х			
169.0	2. GLORIA RAMIREZ	84.50	х			x
SAN XAVIER	1. FELICIA NUÑEZ	96.90	x			
193.8	2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	96.90	Х			
SCHUK TOAK	1. FRANCES B. CONDE	73.45	x			
146.9	2. PHYLLIS JUAN	73.45	X			
SELLS	1. MARLENE SARAFICIO-JUAN	210.50	X			x
421.0	2.EVELYN B. JUAN MANUEL (Kimberly Listo)	210.50	x			
SIF OIDAK	1. WAVALENE ROMERO	93.35	x			
186.7	(Isidro Lopez) 2. DARLENE ANDREW (Rita Wilson)	93.35	X			
	TOTAL	2,440.80	2,440.80	-0-	-0-	[05]

^{**}PASSED VOTES